
GREAT DAY IMPROVEMENTS, RALEIGH
GRISHAW RESIDENCE

DRAWING #                DESCRIPTION
      1                                 COVER
      2                                 ELEVATION "B" WALL
      3                                 ELEVATION "A" & "C" WALL
      4                                 DECK PLAN
      5                                 ELECTRICAL PLAN
      6                                 FLOOR PLAN
      7                                 ROOF PLAN
      8                                 SYSTEM DETAILS
      9                                 SYSTEM DETAILS

THIS SUNROOM IS NOT TO BE CONDITIONED
OR USED AS A PERMANENT LIVING AREA.

NOTE: THIS STRUCTURE HAS BEEN EVALUATED FOR
VERTICAL AND LATERAL LOADS REQUIRED BY THE
2018 NORTH CAROLINA RESIDENTIAL BUILDING CODE.

MINIMUM DESIGN LOADS:  PER 2018 NC RESIDENTIAL
BUILDING CODE / 2015 IRC WITH NC AMENDMENTS

SUNROOM CATEGORY II (PER 2015 IRC R301.2.1.1.1
& AAMA / NPEA / NSA 2100)

DEAD LOADS:
1. ROOF: 15 PSF
2. WALLS: 20 PSF
3. FLOOR: 10 PSF

SNOW LOADS: GROUND SNOW LOAD 20 PSF

ULTIMATE DESIGN WIND SPEED: 120 MPH, 3 SEC. GUSTS

LIVE LOADS:
1. ROOF: 30 PSF
2. FLOOR: 40 PSF

SQUARE FOOTAGE OF SUNROOM = 176

NOTES:
1. ALLVIEW (AVI) SUNROOM; WHITE IN COLOR
2. CONSTRUCT SUNROOM ON NEW DECK
3. NO HEAT BY GDI; ELECTRICAL BY GDI
4. ALL CONCRETE TO BE 3000 PSI MINIMUM
5. ALL DECK LUMBER IS PRESSURE TREATED SYP #2 OR BETTER
6. THIS SUNROOM IS CONSIDERED AS NON-CONDITIONED SPACE, EXEMPT FROM
    ENERGY REQUIREMENTS (PER 2015 IRC SECTION N1102.1, NOTE 2)

SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1/4" = 1'-0"

1 OF 9

ALLOWABLE SOIL PRESSURE CONSIDERED
(PRESUMPTIVE) = 2000 PSF

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1/4" = 1'-0"

2 OF 9

ELEVATION - "B" WALL

12
5

162"162"

18 1/2"

24"

60"

6" SUPER FOAM ROOF
W/ SHINGLES

DBL. 1 3/4" x 11 7/8" MICROLLAM
LVL RIDGE BEAM

TEMPERED GLASS WING(S)

TEMPERED GLASS
KNEEWALL(S)

TEMPERED GLASS WINDOW(S)
W/ SCREEN(S)

NEW DECK

CONCRETE PIER
FOOTERS

SADDLE

145 3/4"

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1/4" = 1'-0"

3 OF 9

ELEVATION - "A" WALL
(HOUSE BUMPOUT NOT SHOWN FOR CLARITY)

144"

84"

24"

60"

144"

24"

60"

6" SUPER FOAM ROOF
W/ SHINGLES

TEMPERED GLASS
KNEEWALL(S)

TEMPERED GLASS WINDOW(S)
W/ SCREEN(S)

NEW DECK

CONCRETE PIER
FOOTERS

DORMER

TEMPERED GLASS DOOR(S)
W/ SCREEN(S)

TEMPERED GLASS
KNEEWALL(S)

TEMPERED GLASS WINDOW(S)
W/ SCREEN(S)

NEW DECK

CONCRETE PIER
FOOTERS

ELEVATION - "C" WALL

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

6" SUPER FOAM ROOF
W/ SHINGLES DORMER

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

AS NOTED

4 OF 9

NOTE: ALL DECK LUMBER IS PRESSURE TREATED SOUTHERN YELLOW PINE

EXISTING

162"

DECK PLAN
SCALE: 1/4" = 1'-0"

144"

168 1/2"

48"

48"

36"

72"

72"

81" 81"

2x10 JOISTS @ 12" C/C

DBL. 2x10 RIM JOIST

2x10 LEDGER BOARD W/ 5/8" DIA. THRU BOLTS INTO
EXISTING STRUCTURE @ 16" C/C STAGGERED

SIMPSON HUC210-2 CONCEALED FLANGE JOIST
HANGERS (OR EQUIVALENT) @ EACH END

SIMPSON LUS210 JOIST HANGERS
(OR EQUIVALENT) @ EACH END

DBL. 2x10 RIM JOIST
6x6 POST ON 16"x16" SQ. x 12" DEEP CONCRETE
PIER FOOTERS (TOTAL OF 6)

A

A

NEW LANDING & STAIRS W/
2x10 JOIST @16" C/C, DBL.

2x10 RIM JOISTS, SIMPSON
LUS210 & HUC210-2 JOIST

HANGERS (OR EQUIVALENT)

SIMPSON PB66Z POST BASE
(OR EQUIVALENT) CAST
INTO NEW CONCRETE

CONCRETE PIER
FOOTER

16"

12"

GRADE

8"

SECTION A-A
SCALE: 1/2" = 1'-0"

6x6 SUPPORT POST
(NOTCHED)

(2) 1/2" DIA. THRU-BOLTS

DBL. 2x10 RIM JOIST FASTEN
W/ (2) 10d NAILS SPACED
MINIMUM 16" C/C

SIMPSON LUS210
JOIST HANGERS

(OR EQUIVALENT)

3/4" SUBFLOOR OR DECKING
(AS APPLICABLE)

2x10 JOISTS @ 12" C/C

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1/4" = 1'-0"

5 OF 9

ELECTRICAL PLAN

GDI ELECTRICAL SYMBOL LEGEND

ELECTRICAL RACEWAY POST

DUPLEX RECEPTACLE

GFCI DUPLEX RECEPTACLE

EXIT LIGHT

CEILING FAN W/ LIGHT

EP

GFCI

E

EXISTING

162"

144"

EP

EP

EP

E
GFCI

EXISTING



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1/4" = 1'-0"

6 OF 9

FLOOR PLAN

EXISTING

162"

144"

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1/4" = 1'-0"

7 OF 9

4x4 POST MOUNTED TO DBL. TOP PLATE W/ SIMPSON ACE4
ADJUSTABLE POST CAP/BASE (OR EQUIVALENT) WITH
2x4 MIN. WALL STUDS DOWN TO THE FOUNDATION

ROOF PLAN

174 1/2"

186"

DBL. 1 3/4" x 11 7/8" MICROLLAM
LVL RIDGE BEAM

6x6 RIDGE BEAM
SUPPORT POST

SHINGLES

6" SUPER FOAM ROOF

1/2" ROOF SHEATHING, ICE & WATER
SHIELD, SHINGLES TO MATCH, AND

ALUMINUM VALLEY FLASHING

2x8 RIDGE BOARD, 2x8 RAFTERS @ 16" C/C,
AND MIN. 1x10 VALLEY BOARD

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

6" I BEAMS

LINE OF ENCLOSURE
WALLS BELOW

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1 1/2" = 1'-0"

8 OF 9

SECTION THROUGH GLASS KNEEWALL
CONNECTION @ DECK FOUNDATION

FLASHING
FLOOR EXPANDER

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

DECK FOUNDATION

AV 1-LITE FEMALE
#8x1/2" TEK SCREWS

(2) @ EACH GANGING
(INSIDE & OUT)

TEMPERED GLASS

GLAZING STOP

SECTION THROUGH MASTER FRAME SILL
CONNECTION @ GLASS KNEEWALL

TEMPERED GLASS

MASTER FRAME SILL#8x1/2" TEK SCREWS
@ 18" C/C

AV 1-LITE MALE

GLAZING STOP

PLAN VIEW OF MASTER FRAME JAMB & DBL.
EXPANDER CONNECTION @ EXISTING WALL

FLOOR EXPANDER

MASTER FRAME JAMB

#8x1/2" TEK SCREWS @ TOP, BOTTOM, 1/3rd
UP & 1/3rd DOWN (INSIDE & OUT)

#8x1" TEK SCREWS @ TOP, BOTTOM,
1/3rd UP & 1/3rd DOWN

2x4

WALL EXPANDERS

 #10 x 2" COATED MASTER-GRIP WOOD SCREWS
AT TOP, BOTTOM, 1/3 UP & 1/3 DOWN

1/4" DIA. GALV. LAG SCREWS STAGGERED
@ 16" C/C TO PROVIDE MIN. 1 1/2" THREAD

ENGAGEMENT INTO STRUCTURAL FRAMING
(ADD BLOCKING AS REQUIRED)

PLAN VIEW OF MASTER FRAME JAMBS
CONNECTION @ AV E.R. WALL POST

AV E.R. WALL POST

FLOOR EXPANDER
#8x1" TEK SCREWS @ TOP, BOTTOM,
1/3rd UP & 1/3rd DOWN.

AV WALL POST SUPPORT
BRACKET

POST CAP

(3) #10x3/4" TEK SCREWS PER
SIDE ATTACHING BRACKET

 TO E.R. WALL POST

MASTER FRAME JAMB

MASTER FRAME JAMB
ANCHORING NOTES:
3/8" DIA. ANCHOR BOLTS
3 1/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"
LONG DEWALT SCREW-
BOLT+ INTO CONCRETE,
SET CENTER OF ANCHORS
AT LEAST 2" FROM EDGE OF
SUPPORTING MATERIAL

PLAN VIEW OF MASTER FRAME JAMBS
CONNECTION @ CORNER POST

MASTER FRAME JAMB

FLOOR EXPANDER

CORNER POST COVER

(6) #10x3/4" TEK SCREWS
PER ANGLE BRACKET

ANCHORING NOTES:
3/8" DIA. ANCHOR BOLTS

3 1/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"
LONG DEWALT SCREW-

BOLT+ INTO CONCRETE,
SET CENTER OF ANCHORS

AT LEAST 2" FROM EDGE OF
SUPPORTING MATERIAL

2 1/2" ANGLE BRACKET

FLOOR EXPANDER

2 1/2" ANGLE BRACKET

#8x1/2" TEK SCREWS @ TOP,
BOTTOM, 1/3rd UP & 1/3rd DOWN

#8x1" TEK SCREWS @
TOP, BOTTOM, 1/3rd

UP & 1/3rd DOWN

AV SD CORNER POST

PLAN VIEW OF MASTER FRAME JAMBS
CONNECTION @ 6x6 WOOD POST

FLOOR EXPANDER

MASTER FRAME JAMB

FLOOR EXPANDER

MASTER FRAME JAMB

6x6 WOOD POST

#10x2" COATED MASTER GRIP
WOOD SCREWS @ TOP,

BOTTOM, 1/3 UP & 1/3 DOWN

SECTION THROUGH MASTER FRAME SILL
CONNECTION @ DECK FOUNDATION

MASTER FRAME SILL

FLASHING
FLOOR EXPANDER

#8x1/2" TEK SCREWS
(2) @ EACH GANGING

(INSIDE & OUT)

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

DECK FOUNDATION

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022



SCALE

SHEET

DATE

DRAWN

LO
CA

TI
ON

LIN
DA

 G
RI

SH
AW

13
4 A

SH
EF

OR
D 

W
AY

CA
ME

RO
N,

 N
C 

28
32

6
JO

B 
# 2

05
02

RE
V.

 A
  3

/11
/22

- - -
TH

IS
 D

RA
W

IN
G 

IS
 P

RO
PE

RT
Y 

OF
 G

RE
AT

 D
AY

 IM
PR

OV
EM

EN
TS

, L
LC

., A
ND

 D
UP

LIC
AT

IO
N 

OF
 T

HI
S 

DR
AW

IN
G 

W
IT

HO
UT

 O
UR

 E
XP

RE
SS

ED
 W

RI
TT

EN
 C

ON
SE

NT
 IS

 P
RO

HI
BI

TE
D.

 A
LL

 R
IG

HT
S 

RE
SE

RV
ED

.

GD
I -

 R
AL

EI
GH

95
1 A

VI
AT

IO
N 

PK
W

Y,
 S

UI
TE

 10
00

MO
RR

IS
VI

LL
E,

 N
C 

27
56

0
98

4-
21

2-
88

50

3/8/22

PIH

1 1/2" = 1'-0"

9 OF 9

SECTION THROUGH "H" & MASTER FRAME
HEAD CONNECTION @ GLASS WING

AACA WING HORIZONTAL
#8 x 1/2" TEK SCREWS

@ 18"C/C

MASTER FRAME HEAD

AV "H" SUPPORT

#8x2" TEK SCREWS @
18" C/C ALONG AV

"H" SUPPORT

#8x1/2" TEK SCREWS @
EACH GANGING & @ EACH

END (INSIDE & OUT)

5/8" x 5/8" ANGLE TEMPERED GLASS

SECTION THROUGH 6" SUPER FOAM ROOF
PANEL CONNECTION @ GLASS WING

6" OVH

6" SUPER FOAM
ROOF

#8x1/2" TEK SCREWS @ EACH
 END, BOTH SIDES

SILICONE SEALANT

AACA WING HORIZONTAL

6" FASCIA

#8x1/2" TEK SCREWS @ 24" C/C
TOP & BOTTOM, & @ EACH END

#8x1/2" TEK SCREWS @ EACH
END & @ 24" C/C

PANEL CAP

#8x1/2" TEK SCREWS
@ 18" C/C

5/8"x5/8" ANGLE IRON TEMPERED GLASS

SECTION THROUGH MASTER FRAME & HEADER
CONNECTION @ 6" SUPER FOAM ROOF

12" OVH (MAX)

MASTER FRAME HEAD

#8x1/2" TEK SCREWS
(2) @ EACH I BEAM

(TOP & BOTTOM)

6" FASCIA

#8x1/2" TEK SCREWS (2)
@ SAME SIDE OF I BEAM
INTO AV HEADER ARM

6" SUPER FOAM ROOF

SILICONE SEALANT

1/4-20x8" HWH "BLAZER" SD5 TEK SCREWS
W/ WASHERS (2) @ EACH CORNER POST

#8x1/2" TEK SCREWS @ EACH GANGING
AND @ EACH END (INSIDE & OUT)

AV HEADER SUPPORT

AV HEADER ARM
#8x1/2" TEK SCREWS
(2) @ EACH I BEAM
(1) @ EACH END OF
HEADER SUPPORT

#8x2" TEK SCREWS @
18" C/C ALONG AV

"H" SUPPORT

6" ALUMINUM I BEAM

#8x1/2" TEK SCREWS (2) @
HANGER, (2) @ FASCIA, (2)

@ 1/3 POINTS BETWEEN
HANGER & HEADER

SILICONE SEALANT
(BOTH SIDES)

SECTION THROUGH 6" ROOF
CONNECTION @ I BEAM

6" SUPER FOAM ROOF

6" ROOF PANEL & I BEAM

SILICONE SEALANT

6" ALUMINUM I BEAM

CONNECTION @ EXISTING WALL

6" SUPER FOAM ROOF

3/8" DIA. GALV. LAG SCREWS @ 16" C/C IN 1/2"
DEEP COUNTERSINK STAGGERED TOP &
BOTTOM W/ 2" MIN. THREAD ENGAGEMENT
INTO EXISTING STRUCTURAL FRAMING

FLASHING

2x8 LUMBER (RIPPED TO 6")

1/4" DIA.x2" GALV. LAG SCREWS
@ 12" C/C (STAGGERED

TOP & BOTTOM)

#8x1/2" TEK SCREWS (2) @ HANGER,
(2) @ FASCIA, (2) @ 1/3 POINTS
BETWEEN HANGER & HEADER

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

6x6 RIDGE SUPPORT POST

(2) SIMPSON ACE6 POST CAPS

(3) 1 3/4" x 11 7/8" MICROLLAM
LVL RIDGE BEAM

3/8" DIA.x3" GALV. LAG SCREWS @ 16"
C/C STAGGERED (NOTE- MIN. 1 1/2"

EDGE DISTANCE REQUIRED)

SECTION THROUGH 6" SUPER FOAM ROOF & PANEL
HANGER ASSEMBLY CONNECTION @ RIDGE BEAM

ADD RIPPED 2x TO CREATE
SLOPE @ RIDGE

SILICONE SEALANT
HANGER TAB

FLASHING
SILICONE SEALANT

SILICONE SEALANT
HANGER TAB

SILICONE SEALANT

 #8x1/2" TEK SCREWS, (2) INTO
I BEAM CONNECTING PANELS
BOTH SIDES, TOP & BOTTOM

SILICONE SEALANT

6" SUPER FOAM ROOF

6" PANEL HANGER

 #8x1/2" TEK SCREWS, (2) INTO
I BEAM CONNECTING PANELS
BOTH SIDES, TOP & BOTTOM

(2) 7/8" x 11 7/8" WOOD
FILL BOARDS

6" SUPER FOAM ROOF

6" PANEL HANGER

eoetjen
Draft

eoetjen
Typewritten text
03-11-2022


	RAL Grishaw #20502 Stamped Rev A.dwg.9.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.8.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.7.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.6.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.5.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.4.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.3.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.2.pdf
	RAL Grishaw #20502 Stamped Rev A.dwg.1.pdf

